anat 44700 .

Qiﬁ @@wxy Sya

~ (b) x*>—8xy -8y’

(o) 8x*—xy-—8y’ R
(d) All of these

2. The sum of two integers 1%-\,-‘396 I 5

one of them is 64, determine the

- other.
(a) —560 @60
(c) 460 . ) 540

3. '.Fi'lld the si side of t
‘penm:aterl 80 cm.
(a) 20 cm (b) 30 cm

() 32cm (d) 40 cm 6.

4. Which of the following statements
is not true?
(a) The HCF of two distinct prime
numbersis 1

(b) T 3! HCF of two co- prlmg

Cﬁumbers is 1

(‘c) The HCF of two consecutive
even numbers is 2

(d) The HCF of an even and an odd
number is even.

The average speed of a truck is

80 km/hr, the total distance covered

in t hours is 240 km, then t is

(a) 3 hours (b) 4 hours
1 y |
(c) Ehours (d) 4§hours

Find the greatest number that will b

divide 328, 436 and 544 leaving
remainder 7, 8 and 9 respectively.
(a) 205 (b) 157
(c) 107 (d) 207

























) -1”' .

(2x+ 4y) (3x — 2y)
= 6x2 — 4xy + 12 xy — gy?
= 6’1!2 + 8xy — ayz
2. (bl) Other integer = Sum of th
" integers—given integer
iriiaelliag
g. (a) One side of a square

1 !
8 (perimeter of the square)

L @

So,.side of the square whose
perimeter is 80 cm

1
= ZXSO cm = 20 cm.

4. (d) The HCF of an even and an odd
number can be either even or

odd.

240 km
80 km / hr

6. (c) To find the greatest number
that will divide 328, 436 _and
544 leaving remainder.7;8 and
9, we find H.C.F. ¢£)328 -7,
436 — 8 and 544 +9;i.e, 321,428
and 535.
Using division method we
calculate the H.C.F. of 321 and

428.

5. (a) Time = = 3 hours

321 ) 428(1

-321
107) 321( 3
~ 321

X

—

H.C.F. of (321, 428) = 107,
Now, we will calculate H.C. F.

of 107 and 535.

37

107)535 (5 "
- 535 "
X

SOII(-jI.C.F. of (321, 428 and 535)
=107.

107 is the greatest number that
will divide 328, 436 and 544
leaving remainder 7, 8 and 9
respectively.
7.  (d) The sequence follows + 4, + 2, X
2. So, the question mark (?) will
be replaced by 92.
8. (c) Statement (i) :
2a +38b = 2(-2) + 3(5)
=—4+15
=3
2b-a=2x5-(-2)
=10+ 2
=%2
a-b=-2-5
=1
And,
a? — b2 = (- 2)2 - (5)2
=4-25
=-21
a2 — b% =21 is least value.
Statement (ii) :
Anshi’s present age (16 + x) years
After z years, Anshi will be
16 + x + z years old.

smallest four digit number

9. (b)

smallest prime number

1000
i = 500

Predecessor of the quotient
=500—-1=499

10. (d)-12-[(-15) + (-2) -3
=12 -[(-15) + (-2) + (-3)]
=-12 -[(-20)] =-12+20 = 8.



ength = 8 m 25 cm = 825 cm
dth = 6m 75 cm = 675 cm
‘Height = 4m 50 cm = 450 cm
1e required longest tape
~ which can mem the three
dimenssions of the room exactly
= HCF (825, 675, 450)
=75 cm
12. (¢) Lunch interval = 30 minutes,
5:30 p.m.=17: 30 hours
Total period in office
=(17:30-9:00) hours
= 8 hours 30 minutes
= [(8 x 60 + 30)] minutes =510
minutes
~. Lunch interval : Total period
in office
=30 min : 510 min

30 1 ,
— ‘B'iﬁ = ﬁ or 1 . 17
13. (d) Total number of eggs = 400
Number of spoiled eggs
= %12 = 96
Number of good eggs left
=400 - 96 = 304.
. Percentage of good eggs

= 20+ x100=76

400 .
Thus, there were 76% of good
eggs in the crate.

14. (b) 4 is the greatest number by
which the product of the
predecessor and successor of an
odd natural number other than
1is divided.

15. (d) Required angle 30°H - 5.5°M
= 240 - 24 x (11/2)
= 240 -132
=108°.

16. (b) In given series, numerators
form a series of odd numbers

Hints & Explanations
while denominators form a
gseries of squares of even
numbers.

T PO PR
4 92’16 42°36 g2’
7. TLALL A

64 g2’'144 T 192
Fraction in place of *

9 9
=102 100
17. (¢) Let L. and.B'be length and
breadth of rectangle
respectively.
Then; 2 (L + B) = 36
36

L+B:—2‘*=18

We have to find number of
pairs of natural numbers whose
sum is 18. These are (1, 17),
(2, 16), (3, 15), (4, 14), (5, 13),
(6, 12),(7,11), (8, 10)(9, 9)%
Which are 9 in number.

18 (d) The shaded portion comprises

19.

(c)

|

of four equal triangles

with base and height —cm

2
18

and ? cm =9 cm

Area of shaded portion

=4

%x base x height

1 26
1 4 565 Rt
e x9 =225 sq. cm

Percentage in math

§2—5—><100 }/o = 65%

500



}’0=66%

~. Rajeev obtained the highest
percentage in science.

20. (b) Distance covered in one round
= Perimeter of the field = 2 (90
+70)m=2x 160 m

=320 m
. Distance covered in 5 rounds
=320m x 5 =1600 m
.- The man walks 4 km (=4 x

1000 m)
= 4000 min 1 hour
*. The man walks 1600 min
= 5 x 1600 hour

i ghour = 752—)060 minutes

= 24 minutes
21. (d) There are 6 angles in the figure.
929. (c) Let one of the angles be of
measure x in degrees and the
other two y and z. Then, we are
given that x =y + Z.
By angle sum property, we
have x + y + z = 180.
x+x=180°
2% =:180°
x =90°

44

Hence, the required angle is of

23. (c) Both (i) and (ii)

24. (¢) In case of any two or more
numbers their HCF will always
be the factor of their LCM. But
75 is not a factor of 180.

~ 75 can not be HCF of the
numbers. |

25. (a) 20% of income = %5100

L€, 700 of monthly income

.. Monthly income
- T5100%
TN 20
=3(5100 x 5) =325500.
26. (c)’Remaining area
12 (4 — ’ﬂ') 12

-

% lg_’rrlz o

ra
Koo

[
L ]

27. (a) Let x% of 6.5 litres is 130 ml
X 6:5% 1000 = 130

T6Q
p G E = 2%
6.5
28. (¢) 80 —[20 — {175 + 5 (28 — 16
+4)+6}]

=80 —[20 - {35 — (28— 4) + 6}
=80 — [20 — {35 —24 + 6}]

=80 —[20 - {35 -4l

=80 -[20-31]
=80-(-11)=80+11=91
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3a 3‘. +7b) +2b (5a 4 71)
= 16a% + 21ab + 10ab + 14}
= 15a% + 31ab + 1412,

) Multiply each term by —3- to get
the next term. Then,
, =1
24°2 16
(b) Area of one tile
=10cm x 10 em = 100 em?,
" Areaofwall=4m x 25m
. =400 cm x 250 cm
~ =1,00,000 cm?.
- . Number of tiles required

Area of wall ~ 100000

e " Area of one tile 100
¥ = 1000.
39. (¢) The positions of the minute and
hour hands at 12 noon.and1:30

p.m. are as shown in the diagram.

Comparing with direction figure,
i we see that thehour hand at 1:30
4 p.m. points towards the East.

— NE
J\

E

SE

10, "”L} Shaded faceis a rectangle
~ Area of shaded face = 32

- ] |’ )

®b=82

4

RN 5
© Volume=lxbhxh P
=32x4 Ry

128 em3, |

-

41. (b)

42. (a) %4.65 = 465 paise
The number of paise which is
an exact number of rupees will
be a‘rpultiple of 100. By the
COI'}dIthI]. of the equation, the
paise in the number of rupees
saved by the boy will be a
multiple of 465.

~~LC.M. of 100 and 465
=5 x 20 x93 =9300

. 'The boy save 9300 paise.

. The required number of days
= 9300 + 465 = 20.

43. (a) Denominator of fraction is 6
greater than numerator.
D=N+6
The sum of denominator and
numerator is 16.
D+N=16
Add both sides 6, then
D+N+6=16+6
D+D=22
2D =22
D ==t}

Since, D + N = 16
11+N=16

N = 16 - 11 = 5 _
Then, denominator = 11 and
numerator = 5.

5 Tl







